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To  my QEHOW Leachers of preqgravmring

This vole is meamt to rePor-E ko You a
brick that may strearmnline the reo.soninj about

Some oc owr wvery Q-l'emcnl:a.rj proarammimj
exercises . 1 wi” exp\ain the (:Hc."-t b’y means or an

Qxam,ole .

Givern N, o0sN, and boolear array b o N),
we deﬂnc L as fo“ow.s :

L.n (Fi0gi<n: b.i) (0sme N Y.
With  pestcondition R and imvariant T,
R. x = L.N
P x = L.»m

i

wWe are invited to pt'rla‘l l':erma'nal:ion condikiorm

C m&hf neﬁa{ciom or d"pe juarclm- éuc‘w &\—ml
PAC = R

We are wsed to the choice n=N  for C, and
that ¢s o"ca_\j, but cL;oice Loz LN s

nicer because il is weaker. Therefore we irmves -
Eijaﬁe
L.n = L.N
= { pred. calc.}
(L.w » LN} ~ (LN Ln)
= { because —as usual_ neg N, L.n= L.N '}
LN = L.wn
& Prcc{. quc.}
=N ~ L.n
= { P}
n=N ~ x
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ornd thus we have derived our bLeloved tertmivetion

conditior {in owe go.

10 we C-Lloo&e te bo\ve. !:L)e aL:ove PrOjrqmminj
Prub\em usihj A l:a\i’ invariam b, l:\ve reaﬁonimj

is  =ven tmore swookh. Define K by
Kn = (3i:ngi<N: b.i)

Then R and TP are given by

R Ko = x

P Ko = x v Kn

ovnd ror‘ L\-ve_ berminakian covicki Etorr  we may
choose x 2 x ~v Koy . we calculate

N E X~ K-YJ
{ prral-c.a.‘c..l,
Kn = x
{Pr'fai. ca.‘c:}
“Kn ~  x
& {del. K}
=N ~ x

]

L

x %
[ 4
There are c;w'h: &owme ol:\ner' exam\o)es in
our e\-cmenl:ar:g course !:\na.L are amcna\:\e Eo
&\nc above 6‘:T“GQMIt'hif13« If You ericounter a

‘aar‘l:ic:u\«r riice ope, ‘o\mse re,ForL WL

\(our&. _2ver,

\/\IH.__T Fer'Cl’)
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